[image: D:\for web site\konkoor\a8395_kowsarpardazperiodta.jpg]


[bookmark: _GoBack]منبع: ekonkur.rozblog.com
image1.jpeg
4

] Al A 3O S S 20 L
3: o = g 6 (9 5 =5 ¢ b=
Aél..bhép=,é
P =S W= =0y
39 3 =y ¢ & S| =1
ol =Cul ¢ 39 =0 p =

9> ol &
i (5 P> (S
KY o)

!

o Gl
L

) S 3300 S &
1
160, M )W

34

0.1 Al
!

.........................

3| (CuZn) cogig (CoNI) 5 (Fe) (M) i (C) o1 (V) 3 (ST i

e "32:‘ o Tw [T | % | 7w zt 2 | % | W 2| W | Ta % | %
Sc|Ti| V|[Cr|Mn|Fe|Co| Ni|Cu Zn Ga Ge As Se Br

2|2 ) 07 g o b Ll Slaw 9 g0 o009 ‘%’9‘;"!3}“

1 L=y 1 e | g | gvg ] il’ilu'ili'i]Ji'

.é;oé)u@,o,ligwlf'jw‘)sjYbﬂwb)‘ Y4 ol
1 o S Sl 0

(Sb B Si GeAs) curl g o : b 3 4

teiduio Jgr il 6 ST ity
(NiCO KArTeI).W@&‘)uﬁ a‘;,"s




